
Maths Knowledge Organiser—Year 3 

Addition and Subtraction 

Key Vocabulary: 

Add 

Altogether  

Subtract 

Take away 

Equals 

Total 

Part 

Whole 

Exchange 

Estimate 

Inverse 

operation 

Place     

value 

 

 

Key Knowledge: 

2 
3 

5 
200 300 

500 200 300 

500 

214 - 3 = 211 

214 + 3 =  217 

We have to EXCHANGE 

because there are now 

11 tens! 

352 - 30 = 322 

352 + 40 =  392 

544 + 22 

1 

To CHECK if this is correct, 
we could use the INVERSE  

179 - 45.  

Does it give you 134? 


